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QUESTION 1

In a large enterprise (5000+ wireless users), by what recommended methods are IP addresses and VLANSs assigned to
different clients associated to the same AP? (Choose 3)

A. Each SSID is mapped to a static VLAN assignment
B. Upstream AAA servers dynamically assign VLANSs to each user or group profile

C. Radio signal metrics (RSSI, SNR, etc.) of WLAN clients are triangulated for location-based VLAN assignment during
association

D. Each BSSID is assigned a unique VLAN to help manage the size of broadcast domains on the wired network

E. Multiple VLAN pools are designated for an SSID and user IP addresses are selected in a round-robin fashion from
the associated pools.

F. In a centralized data forwarding model, clients automatically receive an IP address on the native VLAN of the AP\\'s
Ethernet access port.

G. The configuration profile of the client supplicant is hard-coded with a VLAN ID.

Correct Answer: ABE

QUESTION 2
What is the purpose of DHCP Option 43, and how is it used with WLANs?

A. It provides clients with a temporary IP address on a restricted VLAN until 802.1X authentication is completed. Then
the client receives its long-term IP address.

B. It provides IP address bindings for specific network nodes that require long-term IP address assignments. WLAN
controllers are configured to use Option 43 to receive long-term IP address leases that are centrally managed with
DHCP.

C. It supports vendor-specific IP address attributes for node discovery purposes. APs use Option 43 with vendor class
identifiers to obtain the IP address of a centralized WLAN controller.

D. It integrates a DHCP server with AAA servers and user databases to dynamically assign IP addresses to client
devices. During 802.1X, the AAA server uses Option 43 to notify the DHCP server what IP pool the client\\'s address
should be drawn from.

Correct Answer: C

QUESTION 3
What is the DSCP Per Hop Behavior equivalent classification of the 802.11e AC_VO priority level?
A. AF31

B. CS3
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C.VvOo
D. EF
E. AF12

Correct Answer: D

QUESTION 4

Use the exhibit as a reference.

Tx Power Level Assignment

Current Tx Powsr Level 4

Assignment Method I 1Glabal

@ Custom 54; -
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Given:

-In your regulatory domain, a Tx Power Level of "1" is equivalent to 17 dBm.

-For every integer increment (e.g. from 1 to 2) to the Tx Power Level, the AP\\'s transmit power is halved.
In units of MW, what is the actual transmit power for an AP configured at a Tx Power Level of "4"?

A. 200 mwW

B. 50 mW

C.125mw

D. 8 mW

E. 6.25 mW

F.2.5mw

Correct Answer: E
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QUESTION 5

Given: Assume that music on hold (MOH) features are unicast only.

What VoWiFi implementations require multicast packet delivery support by the WLAN infrastructure?
A. All VoWiFi implementations

B. Push-to-Talk VoWiFi phones

C. VoWiFi soft phones

D. FMC phones

E. Flat (non-VLAN) VoWiFi implementations

Correct Answer: B
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